

SYMMETRIC IDENTITIES FOR FUBINI POLYNOMIALS

TAEKYUN KIM¹, DAE SAN KIM², GWAN-WOO JANG³, AND JONGKYUM KWON⁴

ABSTRACT. In this paper, we represent the generating function of w -torsion Fubini polynomials by fermionic p -adic integral on $\mathbb{Z}_p$. Then we consider a quotient of such fermionic p -adic integrals on $\mathbb{Z}_p$, representing generating functions of three w -torsion Fubini polynomials and derive some new symmetric identities for the w -torsion Fubini and two variable w -torsion Fubini polynomials.

1. Introduction

Let p be a fixed odd prime number. Throughout this paper, $\mathbb{Z}_p$, $\mathbb{Q}_p$, and $\mathbb{C}_p$ will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of the algebraic closure of $\mathbb{Q}_p$. The p -adic norm $|\cdot|_p$ is normalized as $|p|_p = \frac{1}{p}$. Let $f(x)$ be a continuous function on $\mathbb{Z}_p$. Then the fermionic p -adic integral on $\mathbb{Z}_p$ is defined by Kim (see [6]) as

$$\int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_{-1}(x + p^N \mathbb{Z}_p) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x. \quad (1.1)$$

From (1.1), we note that

$$\int_{\mathbb{Z}_p} f(x+1) d\mu_{-1}(x) + \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = 2f(0), \quad (\text{see [6, 7]}). \quad (1.2)$$

By (1.2), we easily get

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_{-1}(y) = \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [1–13]}), \quad (1.3)$$

where $E_n(x)$ are the ordinary Euler polynomials.

2010 *Mathematics Subject Classification.* 11B83, 11S80, 05A19.

Key words and phrases. Fubini polynomials, w -torsion Fubini polynomials, fermionic p -adic integrals, symmetric identities.

2 TAEKYUN KIM¹, DAE SAN KIM², GWAN-WOO JANG³, AND JONGKYUM KWON⁴

It is known that the two variable Fubini polynomials are defined by the generating function

$$\sum_{n=0}^{\infty} F_n(x, y) \frac{t^n}{n!} = \frac{1}{1 - y(e^t - 1)} e^{xt}, \quad (\text{see [10]}). \quad (1.4)$$

When $x = 0$, $F_n(y) = F_n(0, y)$, ($n \geq 0$), are called Fubini polynomials.

From (1.3) and (1.4), we note that $F_n(x, -1/2) = E_n(x)$, ($n \geq 0$). By (1.4), we easily get

$$F_n(y) = \sum_{k=0}^n S_2(n, k) k! y^k, \quad (n \geq 0), \quad (\text{see [10]}), \quad (1.5)$$

where $S_2(n, k)$ are the Stirling numbers of the second kind.

For $w \in \mathbb{N}$, we define the two variable w -torsion Fubini polynomials given by

$$\frac{1}{1 - y^w(e^t - 1)^w} e^{xt} = \sum_{n=0}^{\infty} F_{n,w}(x, y) \frac{t^n}{n!}. \quad (1.6)$$

In particular, for $x = 0$, $F_{n,w}(y) = F_{n,w}(0, y)$ are called the w -torsion Fubini polynomials. It is clear that $F_{n,1}(x, y) = F_n(x, y)$.

In this paper, we represent the generating function of w -torsion Fubini polynomials by fermionic p -adic integral on $\mathbb{Z}_p$. Then we consider a quotient of such fermionic p -adic integrals on $\mathbb{Z}_p$, representing generating functions of three w -torsion Fubini polynomials and derive some new symmetric identities for the w -torsion Fubini and two variable w -torsion Fubini polynomials. Recently, several researchers have studied symmetric identities for some special polynomials (see [1-17]).

2. Symmetric identities for w -torsion Fubini and two variable w -torsion Fubini polynomials

From (1.2), we note that

$$\int_{\mathbb{Z}_p} (-1)^x (y(e^t - 1))^x d\mu_{-1}(x) = \frac{2}{1 - y(e^t - 1)} = 2 \sum_{n=0}^{\infty} F_n(y) \frac{t^n}{n!}, \quad (2.1)$$

and

$$e^{xt} \int_{\mathbb{Z}_p} (-1)^z (y(e^t - 1))^z d\mu_{-1}(z) = \frac{2}{1 - y(e^t - 1)} e^{xt} = 2 \sum_{n=0}^{\infty} F_n(x, y) \frac{t^n}{n!}. \quad (2.2)$$

From (2.1) and (2.2), we note that

$$\begin{aligned} \left(\sum_{l=0}^{\infty} x^l \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} 2F_m(y) \frac{t^m}{m!} \right) &= e^{xt} \int_{\mathbb{Z}_p} (-1)^z (y(e^t - 1))^z d\mu_{-1}(z) \\ &= \sum_{n=0}^{\infty} 2F_n(x, y) \frac{t^n}{n!}. \end{aligned} \quad (2.3)$$

Thus, by (2.3), we easily get

$$\sum_{l=0}^n \binom{n}{l} x^l F_{n-l}(y) = F_n(x, y), \quad (n \geq 0). \quad (2.4)$$

Now, we observe that

$$\begin{aligned} \frac{1 - y^k(e^t - 1)^k}{1 - y(e^t - 1)} &= \sum_{i=0}^{k-1} y^i (e^t - 1)^i = \sum_{i=0}^{k-1} \sum_{l=0}^i \binom{i}{l} (-1)^{i-l} y^i e^{lt} \\ &= \sum_{n=0}^{\infty} \left(\sum_{i=0}^{k-1} \sum_{l=0}^i \binom{i}{l} (-1)^{i-l} y^i l^n \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{i=0}^{k-1} y^i \Delta^i 0^n \right) \frac{t^n}{n!}, \end{aligned} \quad (2.5)$$

where $\Delta f(x) = f(x+1) - f(x)$.

For $w \in \mathbb{N}$, w -torsion Fubini polynomials are represented by the fermionic p -adic integral on $\mathbb{Z}_p$ as follows:

$$\int_{\mathbb{Z}_p} (-y^w(e^t - 1)^w)^x d\mu_{-1}(x) = \frac{2}{1 - y^w(e^t - 1)^w} = \sum_{n=0}^{\infty} 2F_{n,w}(y) \frac{t^n}{n!}, \quad (2.6)$$

From (2.1) and (2.6), we have

$$\begin{aligned} \frac{\int_{\mathbb{Z}_p} (-y(e^t - 1))^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x)} &= \frac{1 - y^{w_1}(e^t - 1)^{w_1}}{1 - y(e^t - 1)} = \sum_{i=0}^{w_1-1} y^i (e^t - 1)^i \\ &= \sum_{n=0}^{\infty} \left(\sum_{i=0}^{w_1-1} y^i \Delta^i 0^n \right) \frac{t^n}{n!}, \quad (w_1 \in \mathbb{N}). \end{aligned} \quad (2.7)$$

For $w_1, w_2 \in \mathbb{N}$, we let

$$I = \frac{\int_{\mathbb{Z}_p} \int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^{x_1} (-y^{w_2}(e^t - 1)^{w_2})^{x_2} d\mu_{-1}(x_1) d\mu_{-1}(x_2)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)}. \quad (2.8)$$

4 TAEKYUN KIM¹, DAE SAN KIM², GWAN-WOO JANG³, AND JONGKYUM KWON⁴

Then, by (2.8), we get

$$I = \left(\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right). \quad (2.9)$$

First, we observe that

$$\begin{aligned} \frac{\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} &= \frac{1 - y^{w_1 w_2}(e^t - 1)^{w_1 w_2}}{1 - y^{w_2}(e^t - 1)^{w_2}} = \sum_{i=0}^{w_1-1} y^{w_2 i} (e^t - 1)^{w_2 i} \\ &= \sum_{i=0}^{w_1-1} y^{w_2 i} \sum_{l=0}^{w_2 i} \binom{w_2 i}{l} (-1)^{w_2 i-l} e^{lt} \\ &= \sum_{n=0}^{\infty} \left(\sum_{i=0}^{w_1-1} y^{w_2 i} \Delta^{w_2 i} 0^n \right) \frac{t^n}{n!}. \end{aligned} \quad (2.10)$$

From (2.9) and (2.10), we can derive the following equation.

$$\begin{aligned} I &= \left(\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right) \\ &= \left(\sum_{m=0}^{\infty} 2F_{m, w_1}(y) \frac{t^m}{m!} \right) \times \left(\sum_{k=0}^{\infty} \left(\sum_{i=0}^{w_1-1} y^{w_2 i} \Delta^{w_2 i} 0^k \right) \frac{t^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} \left(2 \sum_{k=0}^n \sum_{i=0}^{w_1-1} y^{w_2 i} \Delta^{w_2 i} 0^k F_{n-k, w_1}(y) \binom{n}{k} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.11)$$

On the other hand, by (2.8), we get

$$I = \left(\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right). \quad (2.12)$$

We note that

$$\begin{aligned} \frac{\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} &= \frac{1 - y^{w_1 w_2}(e^t - 1)^{w_1 w_2}}{1 - y^{w_1}(e^t - 1)^{w_1}} = \sum_{i=0}^{w_2-1} y^{w_1 i} (e^t - 1)^{w_1 i} \\ &= \sum_{n=0}^{\infty} \left(\sum_{i=0}^{w_2-1} y^{w_1 i} \Delta^{w_1 i} 0^n \right) \frac{t^n}{n!}. \end{aligned} \quad (2.13)$$

Thus, by (2.12) and (2.13), we get

$$\begin{aligned} I &= \left(\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right) \\ &= \left(\sum_{m=0}^{\infty} 2F_{m, w_2}(y) \frac{t^m}{m!} \right) \times \left(\sum_{k=0}^{\infty} \left(\sum_{i=0}^{w_2-1} y^{w_1 i} \Delta^{w_1 i} 0^k \right) \frac{t^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} \left(2 \sum_{k=0}^n \sum_{i=0}^{w_2-1} y^{w_1 i} \Delta^{w_1 i} 0^k F_{n-k, w_2}(y) \binom{n}{k} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.14)$$

Therefore, by (2.11) and (2.14), we obtain the following theorem.

Theorem 2.1. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\sum_{k=0}^n \sum_{i=0}^{w_1-1} \binom{n}{k} F_{n-k, w_1}(y) y^{w_2 i} \Delta^{w_2 i} 0^k = \sum_{k=0}^n \sum_{i=0}^{w_2-1} \binom{n}{k} F_{n-k, w_2}(y) y^{w_1 i} \Delta^{w_1 i} 0^k. \quad (2.15)$$

Remark. In particular, for $w_1 = 1$, we have

$$F_n(y) = \sum_{k=0}^n \sum_{i=0}^{w_2-1} \binom{n}{k} F_{n-k, w_2}(y) y^i \Delta^i 0^k. \quad (2.16)$$

From the symmetry of the fermionic p -adic integral on $\mathbb{Z}_p$, we have

$$\begin{aligned} I &= \left(\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right) \\ &= \left(\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x) \right) \times \left(\frac{1 - y^{w_1 w_2}(e^t - 1)^{w_1 w_2}}{1 - y^{w_2}(e^t - 1)^{w_2}} \right) \\ &= \left(\sum_{i=0}^{w_1-1} y^{w_2 i} (e^t - 1)^{w_2 i} \right) \times \left(\frac{2}{1 - y^{w_1}(e^t - 1)^{w_1}} \right) \\ &= \sum_{i=0}^{w_1-1} \sum_{l=0}^{w_2 i} y^{w_2 i} (-1)^l \frac{2}{1 - y^{w_1}(e^t - 1)^{w_1}} e^{(w_2 i - l)t} \\ &= 2 \sum_{n=0}^{\infty} \left(\sum_{i=0}^{w_1-1} \sum_{l=0}^{w_2 i} y^{w_2 i} (-1)^l F_{n, w_1}(w_2 i - l, y) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.17)$$

6 TAEKYUN KIM¹, DAE SAN KIM², GWAN-WOO JANG³, AND JONGKYUM KWON⁴

On the other hand, by (2.8), we get

$$\begin{aligned}
 I &= \left(\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x) \right) \times \left(\frac{\int_{\mathbb{Z}_p} (-y^{w_1}(e^t - 1)^{w_1})^x d\mu_{-1}(x)}{\int_{\mathbb{Z}_p} (-y^{w_1 w_2}(e^t - 1)^{w_1 w_2})^x d\mu_{-1}(x)} \right) \\
 &= \left(\int_{\mathbb{Z}_p} (-y^{w_2}(e^t - 1)^{w_2})^x d\mu_{-1}(x) \right) \times \left(\frac{1 - y^{w_1 w_2}(e^t - 1)^{w_1 w_2}}{1 - y^{w_1}(e^t - 1)^{w_1}} \right) \\
 &= \left(\sum_{i=0}^{w_2-1} y^{w_1 i} (e^t - 1)^{w_1 i} \right) \times \left(\frac{2}{1 - y^{w_2}(e^t - 1)^{w_2}} \right) \\
 &= \sum_{i=0}^{w_2-1} \sum_{l=0}^{w_1 i} y^{w_1 i} (-1)^l \frac{2}{1 - y^{w_2}(e^t - 1)^{w_2}} e^{(w_1 i - l)t} \\
 &= 2 \sum_{n=0}^{\infty} \left(\sum_{i=0}^{w_2-1} \sum_{l=0}^{w_1 i} y^{w_1 i} (-1)^l F_{n, w_2}(w_1 i - l, y) \right) \frac{t^n}{n!}.
 \end{aligned} \tag{2.18}$$

Therefore, by (2.17) and (2.18), we obtain the following theorem.

Theorem 2.2. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\sum_{i=0}^{w_1-1} \sum_{l=0}^{w_2 i} y^{w_2 i} (-1)^l F_{n, w_1}(w_2 i - l, y) = \sum_{i=0}^{w_2-1} \sum_{l=0}^{w_1 i} y^{w_1 i} (-1)^l F_{n, w_2}(w_1 i - l, y). \tag{2.19}$$

Remark. In particular, if we take $w_1 = 1$, then by Theorem 2, we get

$$F_n(y) = \sum_{i=0}^{w_2-1} \sum_{l=0}^i y^i (-1)^l F_{n, w_2}(i - l, y). \tag{2.20}$$

References

1. E. Ağyüz, M. Acikgoz, S. Araci, A symmetric identity on the q -Genocchi polynomials of higher-order under third dihedral group D_3 , Proc. Jangjeon Math. Soc. **18** (2015), no. 2, 177-187.
2. Y. He, Symmetric identities for Calitz's q -Bernoulli numbers and polynomials, Adv. Difference Equ. 2013, 2013;246, 10 pp.
3. D. S. Kim, T. Kim, Some identities of symmetry for q -Bernoulli polynomials under symmetric group of degree n , Ars Combin. **126** (2016), 435-441.
4. D. S. Kim, T. Kim, Some symmetric identities for the higher-order q -Euler polynomials related to symmetry group S_3 arising from p -adic q -fermionic integrals on $\mathbb{Z}_p$, Filomat **30** (2016), no. 7, 1717-1721.
5. D. S. Kim, N. Lee, J. Na, K. H. Park, Identities of symmetry for higher-order Euler polynomials in the three variables (I), Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 1, 51-74.

6. T. Kim, *Symmetry of power sum polynomials and multivariate fermionic p -adic invariant integral on $\mathbb{Z}_p$* , Russ. J. Math. Phys. **16** (2009), no. 1, 93-96.
7. T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on $\mathbb{Z}_p$* , Adv. Stud. Contemp. Math. **23** (2013), no. 1, 5-11.
8. T. Kim, D. S. Kim, *An identity of symmetry for the degenerate Frobenius-Euler polynomials*, Math. Slovaca, **68** (2018), no. 1, 239-243.
9. T. Kim, D. S. Kim, *Identities of symmetry for degenerate Euler polynomials and alternating generalized falling factorial sums*, Iran J. Sci. Technol. Trans. A Sci. **41** (2017), no. 4, 939-949.
10. T. Kim, D. S. Kim, G.-W. Jang, *A note on degenerate Fubini polynomials*, Proc. Jangjeon Math. Soc. **20** (2017), no. 4, 521-531.
11. Y.-H. Kim, K.-H. Hwang, *Symmetry of power sum and twisted Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 2, 127-133.
12. J. G. Lee, J. Kwon, G.-W. Jang, L.-C. Jang, *Some identities of λ -Daehee polynomials*, J. Nonlinear Sci. Appl. **10** (2017), no. 8, 4137-4142.
13. E. -J. Moon, S.-H. Rim, J.-H. Jin, S.-J. Lee, *On the symmetric properties of higher-order twisted q -Euler numbers and polynomials*, Adv. Difference Equ. **2010**, Art. ID 765259, 8 pp.
14. S.-H. Rim, J. -H. Jeong, S.-J. Lee, E.-J. Moon, J.-H. Jin, *On the symmetric properties for the generalized twisted Genocchi polynomials*, Ars Combin. **105** (2012), 267-272.
15. S.-H. Rim, E. -J. Moon, J.-H. Jin, S.-J. Lee, *On the symmetric properties for the generalized Genocchi polynomials*, J. Comput. Anal. Appl. **13** (2011), no. 7, 1240-1245.
16. C. S. Ryoo, *An identity of the symmetry for the second kind q -Euler polynomials*, J. Comput. Anal. Appl. **15** (2013), no. 2, 294-299.
17. J. J. Seo, T. Kim, *Some identities of symmetry for Daehee polynomials arising from p -adic invariant integral on $\mathbb{Z}_p$* , Proc. Jangjeon Math. Soc. **19** (2016), no. 2, 285-292.

¹ DEPARTMENT OF MATHEMATICS, COLLEGE OF SCIENCE, TIANJIN POLYTECHNIC UNIVERSITY, TIANJIN 300160, CHINA, DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, 139-701, REPUBLIC OF KOREA
E-mail address: tkkim@kw.ac.kr

² DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL, 121-742, REPUBLIC OF KOREA
E-mail address: dskim@sogang.ac.kr

³ DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, 139-701, REPUBLIC OF KOREA.
E-mail address: gwjang@kw.ac.kr

⁴ DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA
E-mail address: mathkjk26@gnu.ac.kr